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The wise men predicted that people’s behavior
would be worse and that unacceptable
behavior would be displayed openly without
Temorse.

(D deteriorate
@ plummet
(3 intervene

@ succumb
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This kind of material can be of use too much
because it 1s so pliable that it can take any
form.
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Some of countries with relatively
natural resources have a tendency to resort to
tourism.

(D scanty
(@ nimble
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Do not it next time and tell
the person to lower the volume. Why do you

endure such a noise pollution?

Dnip in the bud
@ be sick of
Qspill the beans
@ put up with
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— He thought if he stayed with the company or
not.
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— When I came home, I found I had left my
umbrella at school.

@ d= TAA HuH
A
— She got food poisoning due to the food she
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had eaten the day before yesterday.
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— The politician used to say that he will be a
president in the near future.
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(D That was too hard a problem that no student
didn’t solve it.

(@1t was careless for you to give a speech to the
delegates.

(3 The book that you had given me was really
worth of reading 1it.

@ As an English teacher, myself, I want to say
how exhausted I am in making jokes.
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